See how many é’s we can take . 1.2
from 47 and write this as a whole . 825,205
number, then keep the remainder

on top of the fraction. The answer - 4 faces
is75/6 . 60 divided by 10 finds us 10%,

131,154 the answer is 6

. 17:40
An obtuse angle is greater than o _ )
90 degrees but smaller than 180 - Multiply its width by its length

degrees . 6 squared means 6 x 6 = 36
8 hundredths 26/27. Alex wins by 6m
80 28. 12,24, 36, 48, 60, 72, 84, 96,

0.9kg or 900g, divide 7.2 by 8 108, 120

3,612 29. 60x 3, + 30 =210 minutes
31 days 30. 1,066

Draw a shape with one line of 31. 10/8+6/8=16/8=2
symmetry, we must be able to
split it at least once into identical parts

. 0.6x3=1.8
. A number that is only divisible by one and itself, 2, 3, 5, 7, 11...
Add £2.80 to £5.10 and then take this from £10, the answer is £2.10
-6
7:35 am
1,800g or 1.8kg (just multiply by 3, because 4 cupcakes x 3 = 12 cupcakes)
2

5x7=35
The angular point/ corner on a 3D shape




